AVGEIS TOV AGKNGEMV:
Aoxknon 1:

X* =3x+2=0
a=1
p=-3
y=2
A=p*—day=(-3)°-4-1.2=9-8=1>0
H e&iomon €xet dvo Adoelg dvioeg.
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Aoknon 2:

3x?+3x-6=0
a=3

B=3

y=—6
A=p?—4ay=3*—4-3-(-6)=9-12-(-6)=9+72=81>0
H e&iomon €yxel dvo Adoelg dvioeg.
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Aoknon 3:

2x* +4x+2=0

o=2

p=4

y=2

A=p’—bday=4—-4.2-2=16-16=0

H e&iomon &yxet pio Aoon oy (1 e&iomon €xet 500 Aoelg 16€q).
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Aoknon 4:

X°—4x+4=0

a=1

p=-4

y=4

A:,BZ —4day = (—4)2 -4.1-4=16-16=0

H e&icmon €xet pia Avom durhn (1 e&iowon £xet dV0 ADoELS 10€G).
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A= —4ay=3*-4.1.7=9-28=-19<0
AAYNATH

H e&icmon dev €xet kapia Adon.

Aoknon 6:

2x° —5x+9=0

oa=2

B=-5

y=9
A=p%—4ay=(-5)"-4.2.9=25-8.9=25-72=-47<0
AAYNATH

H e&icmon dev &xet kapia Adon.



